= >
N = 0 &8 AH Y H N AN
20155 F=ZE 23 LUgH Ysgs ~ =N
S NS
H: FOUEOZA XAML(DAE)

Chel: REUE NANL(DAS) (es:@d)
SAH-AH -2 (SA) - HREAY - BES 01l Ao I AR Husz
A 1,327,405 1,319,878 7,527
FOIHOZA XK (LAS) 690,000 690,000 0
ZEUS NGHL(WAS) 690,000 690,000 0

ARD FOSIAA(YLAT) 690,000 690,000 0
401 Al Y2 20| 690,000 690,000 0
01 Al&H| 690,000 690,000 0

OClat €284 2 =2 T X (L=20m) 23X 02 0 10,000 A 10,000
ONR1 082 ¥ =552 (L=65m)
33 o 0 7,000 A7,000
OZX2 =22 X 2L U2 FH|(L=270m)
23X 30,345,000 30,345 30,000 345
O¥E sZZFH(FEM4X)(L=120m)
23X 20,270,000 20,270 21,000 AT730
Og= 02 =2 A4l (L=60m)
23X 23,487,000 23,487 25,000 A1,513
tHe Ors=ot2Z Hl(A=15a)
22X 27,433,000 27,433 25,000 2,433
OY =2 F 4 (L=190m) Z & 6,320,000 6,320 5,000 1,320
ONE1l s2Z& 2 =2 3H|(L=140m)
23 23,077,000 23,077 18,000 5,077
ONIZ2 ti==2 A Hl(L=180m) A5 02 0 13,000 A 13,000
ONE2 s2E & (L=150m) FF 20,552,000 20,552 25,000 A4,448
O/ S2Z X 2 Hi 2 A H| (L=215m)
A 13,569,000 13,569 22,000 A8,431
OfHs S2EA(L=90m) JF 13,046,000 13,046 15,000 1,954
OJI= =2 FHI(L=230m) ZEF 21,355,000 21,355 21,000 355
OOlEt HH&=2F I (L=150m) Z A 9,386,000 9,386 18,000 A8,614
OsZ1 022 F 8l (A=15a)
ZX 37,838,000 37,838 30,000 7,838
Os=1 =234/ (L=13om) Z = 11,823,000& 11,823 14,000 N2, 177
Os&E2 s2ZH(L=21m) ZIF 28,107,000 28,107 30,000 A 1,893
OAFE1 DFS 822 HI (L=70m)
23X 4,663,000 4,663 8,000 A3,337
OAFZ1 DFS o2 A 2 di 4= 2 & I (L=100m)
FH 25,073,000 25,073 25,000 73
OME2 s2Z & L Hi22 A H| (L=160m)
A 20,692,000 20,692 15,000 5,692
O4lJ| €22 S22 X & (L=90m) 33 ok 0 15,000 A 15,000
O4lD| =2 T &I AH(L=104m) 14,937 0 14,937
O 2HA S2ZE(L=180m)
AE 15,913,000 15,913 20,000 4,087
OB s2F & L b2~ 2 A H| (L=235m)
A 28,075,000 28,075 30,000 21,925
Ol81 DS 2= 2 HI (L=60m)
A& 4,572,000 4,572 8,000 A3,428




A

20158 =F 2 3 LU3H MG ~ ™
24 WaS
HE: FOIBOEA KAWL (UAS)
el FEYE KGNS (DAS) (SH2:EH)
2A-F3H-H2A(3) - MY - BES Ofl & oH I & Hns2Z
OAlst2 D232 Y T2 2L HH 2 FH|(L=95m)
3H 16,756,000 16,756 20,000 N3,244
Odlgt &3 i+ 23 bl (L=200m)
AH 7,564,000 7,564 14,000 AB,436
OAE?2 SHS3 52 Z X (L=130m)
AF 21,518,000¢ 21,518 20,000 1,518
OME1 0OISEZAIL(14) Z2H 11,960,000 11,960 13,000 A 1,040
O#Z A5t&HYI(L=60n) AX 31,590,000 31,590 23,000 8,590
OUA HEZ FHAUS L S22
BE 25,402,000 25,402 30,000 A4,598
O AF =2 I A (L=190m) A 21,020,000 21,020 24,000 A2,980
OUE W2Y Hi4=2 JHl(L=80m)
23 5,841,000 5,841 6,000 A 159
OME1 HH2=2FHI(L=80m) ZF& 5,456,000 5,456 7,000 A1,544
OMZ1 MEHOHE Hi<2=2 FH| (L=50m)
A 2,688,000 2,688 6,000 A3,312
OMZ2 &t3 =52 Z X (L=120m)
BH 22,435,0009 22,435 26,000 A3,565
OAS 0= eH2 E & (L=130m)
A 18,439,000 18,439 18,000 439
ORAS XS E I A 23X 24,371,000 24,371 24,000 371
OAlE2 ot2l= i< 2= dl (L=80m)
23 9,880,000 9,880 9,000 880
OS=21 6t4= = HHl 2 AHL=97m) 27,813 0 27,813
OAlDl Bl %= Z FHI S AH(L=194m) 18,482 0 18,482
Oulg?2 s 2FHI B AH(L=47m) 13,980 0 13,980
OAARANE RIS 4,272 0 4,272
HH2AAY (WAS) 288,885 281,358 7,527
ol 2 H|(LAS) 175,085 167,558 7,527
oIAH(WAT) 175,085 167,558 7,527
101 Q1244 175,085 167,558 7,527
03 RIHLZ2NHE S 128,435 120,908 7,527
O At2t2 32,766 30,835 1,931
- 23 B 44,4009 « 1Y x 365Y 16,206 15,221 985
= A 16,206,0002 * 1/3 5,402 5,074 328
Azt 2L Y
AE 8,325% x 1 * 20AI2t » 12€ 1,998 1,877 121
-5U224" AEH 66,6009 « 1Y » 12 800 751 49
L P = A 53,2389 * 1¥ x 252 1,331 1,261 70
=l N =
A 16,206,0008 = 1 = 14/100 2,269 2,131 138
-hESY 960 720 240
ol Et 20,0008 * 2% « 12& 480 240 240
O& 0I5t 120 90,073 89,953




2N
X ZH -
L= B

el

o2 K&
J¥ o 1>
M0 Mo mo
02 02
>0
m rx
= 0o

b=

& o
—~a

SA - B S(A) - NTAY - BES 0l &t o o1H o HDE2
-ole(2y) 38 0& 0 89,953 A 89,953
Ostd0lstd(2g) 95,549 0 95,549
-Jl2a 2,936,830& » 12& 35,242 0 35,242
-&0i= 22,424 0 22,424
== 4,076,830& * 43 » 50% 8,154 0 8,154
d2=E 4,076,830& * 22 * 50% 4,077 0 4,077
e 4,076,830& * 53 * 50% 10,193 0 10,193
Mg 4,800 0 4,800
HES=G(HHRX)
40,000& = 28 * 128 960 0 960
SR 90,000& = 2H = 12& 2,160 0 2,160
A=Y 70,0008 = 2% =123 1,680 0 1,680
-Scl= 4] 14,733 0 14,733
A Z A 160,000& * 2% » 12& 3,840 0 3,840
JHAE =4 110,000& * 29 » 128 2,640 0 2,640
MRS 140,000& * 28 = 12& 3,360 0 3,360
P EF I 4,076,830& * 22 * 60% 4,893 0 4,893
2R 15,950 0 15,950
AN2RZ2e=g 599,544 » 12E 7,195 0 7,195
- 5YIRY 239,818& » 12 2,878 0 2,878
Aisrsst=E 5,877 0 5,877
-J| Et 2,400 0 2,400
=g 50,0008 = 2 = 12& 1,200 0 1,200
= 50,000& = 28 = 12& 1,200 0 1,200




N = 0l & At & M A
0158 £ 2 5 YN NG ~ 2T
2N 22
HE: ZoImO ENO KAWL (USH)
chel: BEAS WAL (L) (29l & 2)
SA BB SA(EH) - NEAMY - B 0 4t o4 oI o HIRE
2= 589,724 584,174 5,550
FQHO ZAO XML (ZE2H) 260,000 260,000 0
ZEUAEs AL (228) 260,000 260,000 0
AR FUSIAMG(ZEH) 260,000 260,000 0
401 AIEHIZ 2 CHYI 260,000 260,000 0
01 A& HI 260,000 260,000 0
OlJl S - XI(60m) Z & 13,500,000 13,500 18,000 A 4,500
OUas ti==24X(90m) ZA 10,103,000 10,103 12,000 A 1,897
Odteer 0S5 22T I T2 (130n)
Z & 8,838,000 8,838 11,000 N2,162
O22t =24 X (32m) 2 & 10,245,000 10,245 8,000 2,245
OHEZ S2EZ L i+2 &% (45m)
2 & 6,147,000 6,147 9,000 A2,853
OH OIS H2 2 k4R bl (45m)
Z& 7,827,000 7,827 13,000 N5,173
O3dtol®™ B2 & XI(230m) ZF 14,110,000 14,110 17,000 A2,890
ORZ Or2t2 L& (65m) AFE 12,135,000& 12,135 11,000 1,135
ORME 52EF L 42 F bl (70n)
Z& 4,579,000 4,579 14,000 A9, 421
O=€ th==24&X(190m) Z & 16,051,000 16,051 17,000 A 949
Oels s=2ZF(170m) 2 & 22,105,000 22,105 22,000 105
ogtd ==X Z(80m) 23 11,254,000 11,254 12,000 AT46
O&d ==X & (90m) Z & 15,263,000 156,263 12,000 3,263
OR2E == ZE(150m) Z& 15,601,000 15,601 20,000 AN4,399
Oafe His==2 & Xl(100m) ZZF 10,518,000& 10,518 16,000 A5,482
O=2s ==X Z(150m) d & 17,994,000 17,994 20,000 A 2,006
OZX4a == ZX(140m) 2 317,610,000 17,610 18,000 A 390
O8cl ==X & (70m) Z2& 11,320,0002 11,320 10,000 1,320
OZdel otsZdnd 2 24 Xl (96m) 8,800 0 8,800
OROHA Al =2 HX|(40m) 10,000 0 10,000
O24el =22 & 2 =24 XI(70m) 11,000 0 11,000
ORE ==X Z(40m) 5,000 0 5,000
HE2AZH (Z22Y) 192,232 186,682 5,550
AR AL (LEY) 122,990 117,740 5,250
elAdl(Zee) 122,990 117,740 5,250
101 1Al 122,990 117,740 5,250
03 RIAHA2 2 RHE 90, 111 84,861 5,250
Oogd0lst& 120 84,861 NB4,741
-l (2y) 33 0¥ 0 84,741 N84, 741
Os&0la&(2¥) 89,991 0 89,991
-Jles 2,713,070& = 128 32,557 0 32,557




SN 22
o WHPALH (REY)

el oSl (AEH) (29l & 2)

SA- - H2A(3A) - MRANEY - BES Off &t 24 INEH Hus2

EYE] 20,267 0 20,267

sy 3.853,0702 « 43] * 50% 7.707 0 7,707

3249 2,926,9152 + 23] * 50% 2,927 0 2,927

MRl 3,853,070 * 53 « 50% 9,633 0 9,633

-gosg 5,760 0 5,760

hEag 1,920 0 1,920

b < Xt 40,0002 * 2% = 128 960 0 960

I Ef 20,0002 * 4% x 128 960 0 960

S424Y 90,0008 * 2% + 128 2,160 0 2,160

TFALY 70,0008 * 2 x 128 1,680 0 1,680

=T 14,464 0 14,464

B o3 Al 160,008 * 28 » 12 3,840 0 3,840

ohH 2 E 110,008 » 2% « 128 2,640 0 2,640

e 140,008 * 28 * 12 3,360 0 3,360

EEIMH 3,853,070 * 23] + 60% 4,624 0 4,624

-E2R2R4g 14,543 0 14,543

NEELEEE 567,366 * 12% 6.809 0 6.809

ge22+y 226,947% + 12 2,724 0 2,724

SRR TENLEY 5,010 0 5,010

= 2,400 0 2,400

SR 50,0008 * 2% = 128 1,200 0 1,200

FRlMag 50,0008 * 2% * 128 1,200 0 1,200

SIEETICIEI=) 69,242 68,942 300

=2 (22 ) 69,242 68,942 300

405 X4t 3 S b 300 0 300

01 LS EHSH 300 0 300

O Zeir 300,000 * 14 300 0 300




E 0 & AFHE B M A

SN e
oI m

A ZOIHOIEA XN (ZHD)
Sl BEUS KA (FOIR) (B9 ®R)
SA BB SA(EH) - NEAMY - B 0 4t o4 oI o HIRE
Z oo 553,662 552,252 1,410
ZOIHOZA XML (HHD) 250,000 250,000 0
PHAS NANL(ZeHD) 250,000 250,000 0
A2 FRUSJAMNY(HAHH) 250,000 250,000 0
401 AIEHI L 2 THHI 250,000 250,000 0
01 Al& I 250,000 250,000 0
ORIt =2 X (94n) AE 12,544,0002 12,544 15,000 A2,456
o8 =2 T (82n) AE 13,775,0002 13,775 15,000 A1,225
ONE AB&EFYI(3N)  ZH 13,99,0002 13,996 15,000 A1,004
ONE == T E(105n) 2% 13,987,0002 13,987 15,000 A 1,013
OKo £22EX(900)  ZEH 14,699,0002 14,699 15,000 A.301
OX® == T E(107n) AE 15,615,0002 15,615 17,000 A 1,385
O= HEFHl L b4 23 bl (30m)
AE 12,040,0002 12,040 15,000 £2,960
0AT 5224 L S2EF(5n)
AE 14,612,0002 14,612 15,000 388
OBH BH+2=H(%n)  ZF 16,416,002 16,416 19,000 ~2,584
OXZ A5t&FHI(20m)  FF 13,074,000 13,074 15,000 A1,926
O =2 A (100n) AH 14,765,0009 14,765 15,000 ~235
OAICH Ot2 ot B (40n) 2 12,508,0002 12,508 15,000 A2,492
OSEl =2 &8I (74m) Z2 & 12,044,000 12,044 13,000 A 956
ODS +2B&X(104n) A 13,792,000 13,792 15,000 A1,208
O 42 &z (52n)  AH 10,379,0002 10,379 11,000 A 621
OB S2EZZAH(109) ZEH 13,988,0002! 13,988 15,000 A1,012
O&s 8+2 34l (10n) 3,000 0 3,000
ONE =253 (50m) 8,000 0 8,000
OZA =22 (30m) 4,500 0 4,500
OREARZS LR 6,266 0 6,266
HHSAAY (HAHW) 184,768 183,378 1,410
01212 oyl (& o1el) 117,732 116,322 1,410
o121l (Zetet) 117,732 116,322 1,410
101 1248l 117,732 116,322 1,410
03 RIAA2ZRES 88,249 86,839 1,410
SEENI-E 120 86,839 £86,719
—ol ey (2%) 35 o2 0 86,719 £86,719
OBH0I5 R (2F) 88,129 0 83,129
=3 2,585,6908 + 122 31,029 0 31,029
S E 20,301 0 20,301
Ol sy 3,725,600 * 43 * 50% 7,452 0 7,452
=S 3,533,187 * 23 * 50% 3,534 0 3,534




SN B
HE: HY2IFH (HAN)

Sl Q2| (FeIp) CERED

2N -3 -2 (SH) - NHEMY - BES Off &F o4 I E M Husz

A 3,725,690 * 53] * 50% 9,315 0 9,315

—Fouag 5,280 0 5,280

bEag 1,440 0 1,440

b < Xt 40,0008 * 1% * 122 480 0 480

Ol 20,0008 * 4% * 122 960 0 960

S4Y24g 90,0008 * 2% * 12 2,160 0 2,160

meimeiagy 70,0008 * 2% x 128 1,680 0 1,680

S LIE SO 14,311 0 14,311

Hoi g Al 160,0008 * 2% + 122 3,840 0 3,840

[5 EES 10,0008 * 2% * 128 2,640 0 2,640

DEEZY 140,000 * 29§ 122 3,360 0 3,360

YMEIHE 3,725,6908 * 28 * 60% 4,471 0 4,471

~En2ReY 13,632 0 13,632

NEEELESE 54,0482 * 122 6,589 0 6,589

FuaRsy 219,619% * 122 2,636 0 2,636

CURREENLY 4,407 0 4,407

~J] €t 3,576 0 3,576

SIELTCE SN 1,176 0 1,176

elEag 50,0002 * 29 * 128 1,200 0 1,200

Mg 50,0008 * 2% * 122 1,200 0 1,200




N = 0l & At & M A
018H S £ 2 3 YB3 NS ~ BB
SN e
HE: FOIHOZ KN (HB)
Sl RHEAS AW (AZD) EERED
SA BB SA(EH) - NEAMY - B 0 4t o4 oI o HIRE
e Zo 745,845 733,678 12,167
FOBOSY MWL (ASS) 330,000 330,000 0
2HAE NN E(HBD) 330,000 330,000 0
AL FUSIANMY(HEH) 330,000 330,000 0
401 AIEHI L 2 THHI 330,000 330,000 0
01 Al 330,000 330,000 0
Obia h4+Z & (200m) 2 11,069,0008 1,069 11,500 A 431
OXJIZ 52 2 BH+2FHI(100m)
A 19,500,0008 19,500 19,600 A100
OBF 52 U th42 Il (200n)
AT 19,873,008 19,873 20,000 A127
O2El =23 (100n) A 14,859,0009 14,859 16,000 A1, 141
O2X =2 H(180m) A 22,090,0008 22,090 24,000 A1,910
OUE =2 T3 (130m) A 16,744,0009 16,744 18,000 A1,256
ONZ DY (7on) AH 18,203,000 8,293 20,000 A1,707
ORS 01292 24 2I|(350)
A 20,592,0008 20,592 22,000 A1,408
O%2 t4+ZIJHI(100m) 2 16,605,008 16,605 7,800 ~1,195
O24+ 42 (200m)  FH 15,272,0008 15,272 18,000 ~2,728
O30 th4+ZJHI(200m) 2 11,220,0008 1,220 1,800 A580
OZZ B+ FHI(15m)  ZF 10,909,0002 10,909 10,000 909
O =2 EH(100n) A 15,572,008 15,572 16,800 A1,228
OY4 =2 U th42F bl (80m)
AT 14,671,008 14,671 16,100 A1,429
OB B+2&X(120m)  ZF 10,645,002 10,645 1,000 ~355
OS2l ST A 13,199,0008 3,199 15,900 ~2,701
OE Ni2ULHTE A 13,626,0009 13,626 15,000 A1,374
OB DS HRE A 12,707,008 12,707 14,100 ~1,393
Ol =2 % H+ZFH 2F 14,000,002 14,000 2,000 2,000
OUS tH+2FHl A 7,127,002 7.127 5,400 727
OUEe T8 &X 2,720 0 2,720
OS2t s 2,530 0 2,530
O#F L2 Il 2,000 0 2,000
OUE 224 L B+ I 9.177 0 9,177
HHSHHY (HEBH) 232,050 219,883 12,167
ozl 2 gl (HZ0) 164,652 152,485 12,167
o121 (1 Z8) 164,652 152,485 12,167
101 2124 bl 164,652 52,485 12,167
03 RIIANA2ZR2 4 134,253 122,086 12,167
OBLX 2WE 35,402 33,755 1,647
Il 23 AH 47,0008 + 1Y « 3652 7,155 16,170 985




SN G
BH: WS IR (AED)

SHol: ol Yy (HED) (ol @)

SA-HB S (3H) - NPAY - B 0 &t w/E- HRE2
-J|g==g 23 17,155,000& = 1/3 5,719 5,390 329
NECEE RN

2 8,813& * 18 » 20AI2t » 123 2,116 1,994 122

5222  FZF 70,500& * 1FH « 122 846 798 48

-AX=+ Z & 55,9703 ~ 18 » 19¢ 1,064 1,010 54
—2adtaa

23 17,155,000 = 1€ = 11/100 1,888 1,779 109

og&dolst& 120 88,331 A 88,211

oI (2Y) 23 0¥ 0 88,211 A 88,211

OsZ0Is&(2Y) 98,731 0 98,731

-Jl=s 3,013,970& = 12& 36,168 0 36,168

-0 22,202 0 22,202

AR =4 4,153,970& * 43 = 50% 8,308 0 8,308

d2+g 3,508,007& = 23| » 50% 3,509 0 3,509

= 4,153,970& = 53 * 50% 10,385 0 10,385

-HM 5,760 0 5,760

- EE 1,920 0 1,920

bH < Xt 40,000& = 2H = 12& 960 0 960

JIEt 20,000& = 4H « 128 960 0 960

SR 90,000 = 2H = 12& 2,160 0 2,160

AT 70,0003 = 2% ~ 123 1,680 0 1,680

-Sol= 4] 14,825 0 14,825

SR E= R | 160,000& » 2H » 12& 3,840 0 3,840

- JHA 2 = 110,000& * 29 » 123 2,640 0 2,640

ns22dl 140,000& » 2H » 128 3,360 0 3,360

- SE IO 4,153,970 = 23| = 60% 4,985 0 4,985

-2 16,249 0 16,249

ANzt 2+ 610,637& » 12 7,328 0 7,328

sL22E 244 ,255% = 12& 2,932 0 2,932

Hirssit=E 5,989 0 5,989

-JIEt 3,527 0 3,527

HESHIE X+ 1,127 0 1,127

Egxe 50,000& = 28 = 12& 1,200 0 1,200

Pl =G 50,0003 = 2% = 123 1,200 0 1,200




= >
N = 0 &8 AH Y H N AN
20159 =& 2 3 LU Uags ~ 2N
SA: HLH
Hu: F0 OE MHIA RIB(EHH)
chel: 580 MM 29 (el & &)
2 A .2 (S H) - HEMNY - BHES 01l Ao I AR Husz
EHAH 809,945 774,233 35,712
=0l BEE MHIA MEB(EAH) 230,817 223,817 7,000
SE8F0 E4H 29 230,817 223,817 7,000
HE2H U A2 (HAHH) 44,114 37,114 7,000
401 Al Y2 20| 7,000 0 7,000
01 Al&H| 7,000 0 7,000
OAIFAL ST 2 2tE 2 7,000 0 7,000
FOHOSA XNAHE(EAH) 370,000 370,000 0
ZEU=S NS (EAEH) 370,000 370,000 0
ARD FOSSAAN(RLEH) 370,000 370,000 0
401 Al Y2 20| 370,000 370,000 0
01 Al&H| 370,000 370,000 0
OAFE OtA 2 M 2| (A=607M" )
AA 17,500,000 17,500 19,000 21,500
OAM= OFARH M 2| (A=894m )
23X 13,149,000 13,149 14,481 A1,332
OHIE 232 EZ A (L=75m)
ZH 11,862,000 11,862 12,255 A 393
OHl=20t=2 QH2! I & (L=80m)
FH 13,562,000 13,562 19,000 A5,438
OHA AGHEZ4A ALY (V=2825m)
ZA 14,350,000 14,350 17,000 A2,650
QL4 S2HEE L 242 B AHL=44m,L=74m)
AF 11,472,000 11,472 12,121 2649
Q% =2 I A (L=48m) A 12,115,000 12,115 10,944 1,171
082 =2 I A(L=80n) 23X 15,761,000 15,761 15,818 A57
OX= h2=2FdI(L=150m) 22X 8,628,000 8,628 8,458 170
OXILH OFA2HM 2| (A=366M")
23X 9,062,000 9,062 9,394 A 332
OXM A =2 A& (L=100m) AE 13,948,000 13,948 14,970 A1,022
OS82 S2ME A (L=50m) F= 13,640,000 13,640 10,713 2,927
O&E 5H& 22 (L=45m) 23X 13,954,000 13,954 14,751 AT797
OZLE L2 AH(L=%0m) FF 17,201,000 17,201 18,604 21,403
Q0202 SHAAHZAHLHIMNA)
23X 11,766,000 11,766 15,000 N3,234
QA = 2 I & (L=80m) 23X 15,375,000 15,375 15,466 A91
= S 2 I E(L=120m) FH 15,020,000 15,020 16,108 A1,088
OUWS AHEH 82 (L=58m) 23X 17,037,000 17,037 18,135 A 1,098
QASE OLAZ M I (A=546M)
23X 9,275,000 9,275 9,574 A 299
0SS s EA(L=130m) ZH 16,091,000 16,091 17,015 A924
0O1g s2ZE(L=100m) 23X 13,280,000 13,280 13,020 260




SN BLS
HE: FOBOZA KL (HLD)
CHelr BEQUE XN (HAH) CERED
SA BB SA(EH) - NEAMY - B 0 4t o4 oI o HIRE
Ool¥ 02 or2 = & (L=52n)
AN 7,275,008 7,275 8,173 898
Osts S2EIH(L=26n)  FF 3,871,002 3,871 6,000 ~2,129
OAQE &2 t) 4 2 2 A (L=56m)
A 10,799,0009 10,799 6,000 4,799
OS8 SHEX(SH14)  FF 14,000,000 14,000 10,000 4,000
OZ'S Oh2 oL T H(L=100n) 12,007 0 12,007
BH2IAL(BE) 209, 128 180,416 28,712
olEey(2aD) 117,886 111,674 6,212
EETEREE)) 117,886 111,674 6,212
101 @121l 117,886 111,674 6,212
03 RIHA2ZRE 4 87,441 81,229 6,212
O&H0l &2 120 81,229 ~81,109
SICHIEED 33 0 0 81,109 £81,109
20152 (2Y) 87,321 0 87,321
123 2,588,7408 + 123 31,065 0 31,065
4013 8,833 0 18,833
Olgag 3,728,74020 * 43| * 50% 7,458 0 7,458
RS 2,052,0138 * 23 * 50% 2,083 0 2,053
Meeetl 3,728,740 * 53] * 50% 9,322 0 9,322
~Foiag 7,080 0 7,080
bEag 3,240 0 3,240
b < Xt 40,0008 * 1% * 122 480 0 480
AT R 50,0009 * 1% * 122 1,800 0 1,800
0l 20,0008 * 4% * 122 960 0 960
SR 90,000 = 2H = 12& 2,160 0 2,160
T4y 70,0008 + 2% + 128 1,680 0 1,680
S=LIE VL] 14,315 0 14,315
o g At 160,0008 * 2% * 128 3,840 0 3,840
I EES 10,0002 * 29§ 128 2,640 0 2,640
DEE XY 140,0008 * 2% * 128 3,360 0 3,360
CHEFOM 3,728,740% * 23] * 60% 4,475 0 4,475
~EB2R4Y 13,628 0 13,628
NEEE RS 549,4872 * 12 6,594 0 6,594
SL224 219,795& * 128 2,638 0 2,638
MARIEINEY 4,396 0 4,396
~J1Ef 2,400 0 2,400
A g 50,0002 * 29 * 122 1,200 0 1,200
AM g 50,0008 * 2% * 122 1,200 0 1,200
EELTEREED 91,242 22,500
Jl2Zd(24d) 91,242 22,500




2N
X ZH -
L= B

el

]

FZHI(
HI (24

&)

02
Mo ox 0x
0¥ HO 12
~0x

e u

S

SA-EH A (SA) - NRAE - BES Off ok 24 I E N Husz
405 RH&HF S b 22,500 0 22,500
01 ML S EF S 22,500 0 22,500

OBMD Y 15,000,0008 * 1744 15,000 0 15,000
OARaIt7 & IR 7,500 0 7,500
-HEA 234N 220,0002 * 107H 2,200 0 2,200
—AtR A oIt 165,0002 * 207H 3.300 0 3,300
~QI @A oDl Rt 110,0002 * 10H 1,100 0 1,100
-2 SHME 900,0002 * 1JH A 900 0 900
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N = 0 &8 AH Y H N AN
20159 =& 2 3 LU Uags ~ 2N
SN 2z
M FOIHOZA XEHL(2ZH)

Sell FEUS NN (2FB) (el &e)
2 A .2 (S H) - HEMNY - BHES 0] AFoH Iy H H &2
22d 497,236 497,236 0
ZOIHOIZEA AN (22H) 270,000 270,000 0

ZEYE=E ML (22H) 270,000 270,000 0
ARE FO=AAY(2EH) 270,000 270,000 0
401 AlEHIZ =20 270,000 270,000 0
01 Al&H| 270,000 270,000 0
O—E2 Z0I2 =2 ZF(100m)
A 18,860,000 18,860 20,000 A1,140
OZE3 U8 =22 X (70m) A 7,600,000 7,600 8,000 A 400
O&49s5 20l s2Z & (150m)
A= 18,600,000 18,600 20,000 A 1,400
O=2¢1 ti 22 = dl (60m) 23 13,300,000 13,300 15,000 A1,700
OE4A A= Hi4=2 I (150m)
23 20,600,000 20,600 25,000 A4,400
OAlD|2 Hi2=2F | (200m) Z& 16,340,000 16,340 18,000 A1,660
Od=2 A2 M 27(80m)
2= 8,160,000 8,160 10,000 A 1,840
OlY ==222(70m) 23X 8,300,000 8,300 7,000 1,300
OLE HWAEs =2 E & (L=100m)
Z2A 9,400,000 9,400 10,000 A 600
O=2¢2 ntger2 24(150m) ZA 6,800,000 6,800 8,000 A 1,200
OL=3 M2AFH|(70m) 23X 18,170,0002 18,170 20,000 A 1,830
OYd2 023 & ZEEZH(320m)
23X 16,870,000 16,870 22,000 A5,130
O=2%2 ti==2 Al (100m) 10,000 0 10,000
OY oA X2 2(20m) 10,000 0 10,000




N & Ol & A g Al A
P015HE 52 2 5 2BEN DAS - 2T
SN ZES
u: YH2AA (HEO)

SEERIEEIEEE EEREED
SA-HH S (3A) - HFAY - BAES 0 &k o J1 3 o Hms2
=St 1,603,952 1,585,005 18,947
HE2LAZH(HEH) 411,181 392,234 18,947

AHAIEH(HAEHY) 310,494 291,547 18,947
AAH(HEAH) 310,494 291,547 18,947
101 Q124 4] 310,494 291,547 18,947
03 RIHAZ 22 = 263,194 244,247 18,947
Ostzdilsta 360 244,247 N 243,887
-ore(6Y) 33 0¥ 0 243,887 N 243,887
Ost&0lst&(6Y) 262,834 0 262,834
-Jl=s 7,936,390 » 12& 95,237 0 95,237
&= 60,405 0 60,405
IRl 11,356,390& * 43| * 50% 22,713 0 22,713
d2=E 9,300, 147& * 23| * 50% 9,301 0 9,301
e 11,356,390 » 53| * 50% 28,391 0 28,391
3N 14,160 0 14,160
&= 2,640 0 2,640

bH < Xt 40,0008 = 3" = 12& 1,440 0 1,440

JIE 20,000& = 5% * 12& 1,200 0 1,200
Sxge=+g 90,000& = 6 = 12& 6,480 0 6,480
Gedd+g 70,0008 = 6% * 12 5,040 0 5,040

-Scl= 4] 43,148 0 43,148
A g4 160,000& = 6 » 123 11,520 0 11,520

- JHA 2 = 110,000& * 6 » 123 7,920 0 7,920
wWEEXH| 140,000 * 6% » 123 10,080 0 10,080

- SEFOH 11,356,390 » 23| * 60% 13,628 0 13,628
2R 42,084 0 42,084
A2 Z2es=g 1,672,932% » 12& 20,076 0 20,076
=22 669,173& » 123 8,031 0 8,031
Aimessit=E 13,977 0 13,977

-J| &t 7,800 0 7,800
=g 50,0008 = 6% * 12 3,600 0 3,600
gEsg 50,000& = 12 » 128 600 0 600
=g 50,000& = 6% * 12 3,600 0 3,600




= AH
N = 0 &8 AH Y H N AN

2015 E = 2 3 UBHE|H MS ~ 2FH

2N HotH

M ZOIHOIZA XS L (HOrH)

Sel: FEUS NGNS (o) (St
SAH-AH -2 (SA) - HREAY - BES 01l Ao I AR Husz
Hoto 883,617 881,469 2,148
FOIHOIZA XSS (HOHH) 400,000 400,000 0

ZEUS NG L(HorH) 400,000 400,000 0
ARD FOISAA(FHoH) 400,000 400,000 0
401 Al Y2 20| 400,000 400,000 0
01 Al&H| 400,000 400,000 0
OSW S2EH U M2 (A=840m)
ZA 13,500,000 13,500 12,000 1,500
O2461 s2EE Y TN (A=510m)
ZA 13,900,000 13,900 20,000 26,100
O24I2 AN IR (A=1000m")
ZX 18,300,000 18,300 18,000 300
O2Y1 52 ¥ N AH|(L=160m)
ZA 19,500,000 19,500 25,000 25,500
O2e3 =2 2 2 Zdl(L=170m)
A 16,700,000 16,700 25,000 28,300
0522 s2E & (L=150m) F= 16,600,000 16,600 20,000 A 3,400
O&23 DS 2 T ¥ 27| (A=1500m")
23X 24,400,000 24,400 20,000 4,400
OXH1 =2 FHZAH(L=150m)
23X 22,000,000 22,000 20,000 2,000
OZX#3 s2EF(L=220m) FF 22,600,000 22,600 33,000 210,400
OX&4 52 L Hi2=2 =l (L=100m)
2 23,300,000 23,300 20,000 3,300
OB S2TH L IM 2| (L=80m,A=1,000m)
AE 19,400,000 19,400 25,000 25,600
OE23 2 & L 22 & X (L=250m)
A& 9,200,000 9,200 30,000 A 20,800
O2Y1 s2Z & L 22 & X (L=200m)
I3 0% 0 30,000 230,000
o222 dHAXR 23X 20,000,000 20,000 20,000 0
O¥E L2244 X 9 =23 E & (L=240m)
23X 17,300,000 17,300 16,000 1,300
ORE4 =24 X L IM 2| (L=80m, A=200
m ) Z & 8,700,000 8,700 10,000 21,300
O] 22 & X (L=120m)
23 11,100,000 11,100 10,000 1,100
O =2 &(L=150m) 18,900 0 18,900
OFY2 s2EF(L=150m) FF 18,900,000 18,900 20,000 A1,100
OXN4 =2 & L 22 | (L=160m)
AX 26,700,000 26,700 26,000 700
0821 =2 Z&(L=60m) 7,200 0 7,200
0&22 &2 s2Z & (L=170m) 20,500 0 20,500
OXH4 52T E(L=150m) 16,300 0 16,300
O2%2 s2FH| 2 AHL=100m) 15,000 0 15,000




SN HorS
HE: HY2IFH (Hoe)

Sl Q2| (H o) (B9 ®R)
SA - B (30) - MM - BES 01l ¢ o4 J1E o HDS2
BHS YA (Hord) 255,903 253,755 2,148
ol e @ | (& orpl) 170,088 169,740 348
o124 H| (B orer) 170,088 169,740 348

101 01211 170,088 169,740 348
03 RIHA2ZRE 4 131,131 130,783 348

22032 180 130,783 A130,603
-012 2l (3) 33 02 0 130,603 £130,603
SEEN-E 130,951 0 130,951
SIEE] 3,884,6308 * 122 46,616 0 46,616
e 29,652 0 29,652
Olgay 5,504,6308 * 43 * 50% 11,190 0 11,190
=Ers 4,474,309% * 23] * 50% 4,475 0 4,475
MecEyl 5,504,630 * 53] « 50% 3,987 0 13,987
~Hoiag 9,360 0 9,360
=Ly 3,600 0 3,600
b < Xt 40,0008 * 2% * 122 960 0 960
MTXHAOIA 50,0008 * 28 * 122 1,200 0 1,200
ol 20,0002 * 6% * 122 1,440 0 1,440
Sae24g 90,0008 * 3% * 128 3,240 0 3,240
ZeiZeiag 70,0008 « 3% « 123 2,520 0 2,520
=2 S My 21,474 0 21,474
A ZAY| 160,000& * 39 » 123 5,760 0 5,760
[b EES] 110,0002! * 3% * 122 3,960 0 3,960
eS| 140,002 * 39 128 5,040 0 5,040
HEEIY 5,504,630 * 28] * 60% 6,714 0 6,714
~ED2R4Y 20,249 0 20,249
NEEEN 824,449% * 122 9,894 0 9,894
guzesy 30,7802 * 12 3,958 0 3,958
URRIEINEY 6,397 0 6,397
~JlEf 3,600 0 3,600
SR 50,0002 * 3% * 122 1,800 0 1,800
Mt 50,0008 * 3% * 122 1,800 0 1,800
=Bl (Ferst) 85,815 84,015 1,800
ol Al (=ere) 85,815 84,015 1,800
405 THAHH St 3,300 1,500 1,800
01 AU 2B H St 3,300 1,500 1,800
OXgs AT 7 650,0002 * 1CH 650 0 650
OYsE UI 2Y(LSUASAY)
700,0002 * 1CH 700 0 700
OANSE By T 450,0002 * 1CH 450 0 450




E 0 & AFHE B M A

2015 = 2 3 UBtE|H DMS ~ |
2 Ad
M ZOIHOZA AL (ALH)
chel: FEU=s NGML(LA2dH) (St
SAH-AH -2 (SA) - HREAY - BES 01l Ao I AR Husz
ASd 471,986 471,986 0
FOIHOZA KW (ASH) 250,000 250,000 0
ZEUS NS (AH) 250,000 250,000 0
AR FOSAA(AST) 250,000 250,000 0
401 Al Y2 20| 250,000 250,000 0
01 Al&H| 250,000 250,000 0
OZ2l2 SASIIZA(L=4n) ZF 8,321,000& 8,321 10,000 A1,679
O S22 AH(L=130m)
23X 16,000,000 16,000 15,000 1,000
OUA2 s 2L A L HYj 22 2 AH(L=150m)
23X 17,091,000 17,091 18,000 A 909
OO0 2 Hi 22 & H| Z AH(L=80m)
23 13,050,000 13,050 16,000 A2,950
O0t43 s 2 Z & Z AHL=100)
23X 6,800,0008 6,800 10,000 A 3,200
OD0F2 2 M 2T 2 AF(L=250m)
23 13,100,000 13,100 15,000 A 1,900
OAL2 DS OH2 T E 2 AH(L=120m)
23X 12,750,000 12,750 15,000 A2,250
O2& =2 ZTXHIZAH(L=150m)
23X 16,790,000 16,790 17,000 A210
O=281 s 2IZEH 2 AH(L=130m)
23X 14,550,000 14,550 15,000 A 450
O2H1 s2IZEHZAHL=110m)
23 11,900,000 11,900 12,000 A 100
O2H2 =2 T2 AHL=100m)
23X 11,238,000 11,238 12,000 NT62
OOt& 1 B2 2 AH(L=120m) Z & 7,376,000 7,376 12,000 A4,624
O=82 42 Z AH(L=120m)
A 10,540,000 10,540 15,000 A4, 460
OZ2l HH4=2 A HI 2 AH(L=98m) 14,230 0 14,230

OOt& 1 B ==2 F I 2 At(L=80m) 8,264 0 8,264
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N = 0 &8 AH Y H N AN
20159 =& 2 3 LU Uags ~ 2N
SN 250
Mz =0l OIS AHIA MB(2EH)

Cel: 58X 23U 29 (B2l &)
2 A .2 (S H) - HEMNY - BHES 0] AFoH Iy H H &2
23d¢ 833,023 814,081 18,942
=0l OFE MHA HM2(2EYH) 217,511 202,796 14,715

E8F E3H =29 217,511 202,796 14,715
MYy L 2 (2FY) 52,420 37,705 14,715
201 2Bt 19,115 18,715 400

01 AF2 22| H 2,593 2,193 400
OLF=222 250,0009 * 1CH 250 0 250
o=blzolg 22 150,00024 * 1CH 150 0 150
401 AlEHIZ =20l 7,000 0 7,000
01 Al&H| 7,000 0 7,000
OAEA BET 2 2tB AX 7,000 0 7,000
405 KAk S 7,315 0 7,315
01 ML 2EFESY 7,315 0 7,315
ogza 4m 220,0002 * 10H 2,200 0 2,200
QoI Al o X} 110,0002 * 107K 1,100 0 1,100
OMNRE 28 o X} 165,000 * 2074 3,300 0 3,300
OsAHA Adt 275,0002 * 20H 550 0 550
O&NHA Hol2 165,0009 * 1M 165 0 165
HMSHAH (EXM) 285,512 281,285 4,227
oldeYy(28M™) 118,250 114,023 4,227
IAHI(EHH) 118,250 114,023 4,227
101 Q124 H 118,250 114,023 4,227
03 2IAHL22IE S 88,274 84,047 4,227
O=t20|3 2 120 84,047 83,927
-l (2g) 2F ok 0 83,927 A83,927
OstA0|3 (2¥) 88, 154 0 88,154
-Jle2 2,645,0602 * 129 31,741 0 31,741
= 19,687 0 19,687
Sll=I = 3,785,0602 * 43| * 50% 7,571 0 7,571
H24g 2,652,762 * 23| * 50% 2,653 0 2,653
==L 3,785,0602 * 53| * 50% 9,463 0 9,463

~H oA 6,000 0 6,000
SlESY 2,160 0 2,160

b < Xt 40,0008 * 29 » 12¥ 960 0 960

AU KEE O] A 50,0008 * 29 » 129 1,200 0 1,200

SR Lc 90,0008 * 2% 129 2,160 0 2,160

el P = 70,0008 * 29 » 129 1,680 0 1,680

-=22| & MH| 14,383 0 14,383

ol ZAlH 160,0008 * 2% * 122 3,840 0 3,840




SN 2F
HH: BHSYAU (BFH)
Sl IS (2HS) CERED
SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2
- JHA 2 2l 110,000& » 2& » 12& 2,640 0 2,640
- WES2 Xl 140,000& * 29 » 122 3,360 0 3,360
- BEFOH 3,785,060& * 23| » 60% 4,543 0 4,543
—EU2RE 13,943 0 13,943
A2 Z2esE 557,586& * 12& 6,692 0 6,692
2224 223,0343& » 128 2,677 0 2,677
R ERIIsEY 4,574 0 4,574
-J| Et 2,400 0 2,400
e 50,000& = 2 = 12& 1,200 0 1,200
AR~ R = 50,000& = 2% = 123 1,200 0 1,200




